C 1 EHES 2024/02/25

F14E 2E6AG NL—HR—LYY —THREBXEBRKE XTFERH

G
0
B ~N > L =)
B o x Z A M e D |lmmma m|(TL tle x =
F—L = Y i e J : A & Tl Y =
v =5 i - S 3R v Y ;“'\
A
R
1 \@, B R R ERAT O 20 |O 20 [O 20 |O 20 [O 20 |O 20 (O 2-0 |7 /14 7 0/1.000{14 O MAX | 350 | 176 '1.989
e
2| gy, BAKEY 57 ® 02 O 20 O 20 |®@ 02 [O 20 |O 20 (O 20 |7 125 2 0.714(10 4 2.500| 326 272 ' 1.199
3 Ii] ME)KE ® 02 |@ 02 O 211 |0 211 |O 211 |[O 20 |O 2-0 |[7/12 52 0.714|10 7 1.429| 382 359 | 1.064
4 @’f;%/\‘;(t“??(%ﬁi% ® 02 @ 02 |®@ 1-2 O 20 |O 20 (O 21 |O 20 |7/11 4 3 0571|9 7/1.286| 339 | 337 ' 1.006
5 HERJST ® 02 |O 20 |@ 1-2 |@ 02 O 21 |0 20 (O 21 7114 3057198 1.125| 383 | 383 |1.000
6 (‘) =ZUFJER1T ® 02 @ 02 (@ 12 @ 02 |®@ 1-2 O 20 |O 2-1 792 50286 11 0.545| 351 | 393 |0.893
MUFG
7 @ EdA—LE&HE ® 02 |®@ 02 @ 02 (@ 1-2 |@ 02 |®@ 0-2 O 20 |7 8 1 6 01433 12 0.250| 276 = 364 0.758
o)
8 W\?%M GOLD STARS/\EF ® 02 @ 02 @ 02 @ 02 @ 12 |@ 12 |®@ 0-2 7.7/0 700002 14 0.143| 277 | 400 |0.692
Ba=BA2a BE18 FHEOAR BER=BH-HAR bty rER=FBtyrtktybt BAR=FA+%A

KEAZDEFER., ABRHEFEABENL—R—ILBERCRELET .




| C 2 Bl e s 2024/02/25 5

F14E £E6AR] NL—R—LY) —THREBLXEHBAE LTFRMH

TIAYVITRER (J\VIOTHIYVISD) INV DT Y ITRER
1 | uE R R ER4T 1 14 480 229 32 47.7 1 IuEh R ER4T 1 14 15 6 1 40.0
2 |mENIIKE 1 17 733 241 58 32.9 2 [ RRET7RA#B 1 16 25 7 6 28.0
3 (RRET7RHB 1 16 689 219 50 31.8 J|EA—LEHE 7 15 8 2 1 25.0
4 (BRRZEY ST 7 14 646 202 20 31.3 4 [BFE)I|KZ 7 17 45 1 10 24.4
5 [RmRUST 7 17 798 242 52 30.3 5 [=ZUFJERTT 7 17 49 10 7 20.4
6 |[=Z=UFJERTT 7 17 743 200 62 26.9 6 |GOLD STARS/\E-F 7 16 29 4 5 13.8
T|E4—LEHE 7 15 631 154 49 24.4 TEERUDT 7 17 29 3 6 10.3
8 |GOLD STARS/\E-F 7 16 635 149 58 23.5 8 (BAKREYST 7 14 31 3 3 9.7
TRAYIRERE (%) =HBE--ITH*100 NYGTRYYRER (%) =BR-FT8x100
7y FAER ()
5 +
# 3 # # &
1|ERRAY DT 7 17 798 30.3 239 3 242 1 W RERT 7 14 22 1.57
2 |#mENIIKRE 7 17 733 32.9 230 1 241 2 [ RRET7RA#HB 7 16 25 1.56
3 LB RERST 7 14 480 47.7 223 6 229 3 [wZ)IIKE 7 17 24 1.4
4 (RRE7RAHEB 7 16 689 31.8 212 7 219 4 [GOLD STARS/\E-F 7 16 21 1. 31
5 |BAKREY ST 7 14 646 31.3 199 3 202 5 | =ZUFJERTT 7 17 21 1.24
6 | =Z=UFJERTT 7 17 743 26.9 190 10 200 5 |EmERUDT 7 17 21 1.24
T|E4—LEHE 7 15 631 24.4 152 2 154 T|IBARKRE®EYST 7 14 14 1.00
8 |GOLD STARS/\EF 7 16 635 23.5 145 4 149 8 [EFX—LBEE 7 15 5 0.33

1Y FHEYDTOYIRERY () =BR-HEEY M

H—JMRE B—JL>—TmIhE
£ # & B
1| ILE AR RERT 1 14 | 343 23 97 17 12.5 1 |WE P RERT 1 14 | 168 | 84 45 39 63.4
2 [RRETRHB 7 16 | 337 20 96 38 10.2 2 [RRETRAFEH 1 16 | 330 | 160 [ 76 94 60.0
3|BAXREY ST 7 14 | 323 16 87 19 10.2 3 [#ENIKE 1 17 | 328 | 137 | 103 | 88 57.5
4 [=ZUFJERTT 7 17 | 351 21 69 31 8.7 4 (BXRKREY ST 1 14 | 247 | 111 57 19 56.5
5 |GOLD STARS/\EF 7 16 | 283 10 83 29 8.3 5 [RERUST 7 17 | 349 | 149 | 90 | 110 55.6
6 [#RIIKE 7 17 ] 380 9 99 25 1.2 6 |=ZUFJERTT 7 17 [ 352 | 136 | 99 | 117 52.7
1 |EF—L&HE 7 15 | 281 6 65 17 6.4 7 |GOLD STARS/\E-F 7 16 [ 351 | 135 | 98 | 118 52.4
8 |mRRERDT 7 17 | 384 11 77 33 5.7 8 |EFX—L&HE 7 15 [ 314 | 107 | 99 | 108 49.8
Y—THRE (%) = H—EXT—ZXx100+3E x 26—k m x25) +ITH P—TLI—TRME (%) = (FZ ] x 100+ [R] x 50) ~$T#

RAEZEDEFIER. ARPHENBRANL—R—ILBECRBELET .



KE) & A 5215 > > (Best15)

F14[E £E6AH /NL—

R—iL)—

THE

BLEBRE LFERERH

2024/02/25 5

VIYVIRER N\ OoF7FYIED) Ba (¥ER)

# | T - # | & 7 EAR N
= K% 7ot | B §§z g 181 % = . K% Fos% | B é} ; 2 IR
NETY e 7 | 10 41 23 | 1 | 561 1k 22 YT 7 | 17 87 6 | 2 95
2 |t 137E ITETE 7 | 14 62 33 | 4 | s3.2 2 |=® om0 ~ze7z | 1| 16 70 3 | o 82
3| 2@ aae METLEE 7| 14| 16 | 57| 5 | 401 3| £ YT 7 | 1 76 o | 1 77
4 |mx Bm ITELEE: 7 | 10 63 0 | 4 | 416 4|em mae MRS 7 | 14 57 4 |1 62
5|hE g ITETE 7| 12 76 3% | 3 | 474 5 |&F @ ~ze7z | 1| 16 53 4 | 2 59
6 | BB X PN 7 17 106 49 6 46. 2 6 |#¥i8 EX PN 7 17 49 6 2 57
7 |mE #un Bxs357 | 1 | 13 93 0 | 3| 40 7 |fneE = PN 7 | 1 51 3 |1 55
8 | A ITETE 7| 13 58 u | 8 | 414 8 | kM wEX X 7| 16 46 2 | s 53
9 | kB wEX A 7 | 16| 116 | 46| 8 | 307 9|z Bx MUFG 7 | 17 45 1| s 52
10|hE X% ~ze7zx | 7 |16 | 101 | 38| 6 | 316 10| ;= GOLD STARS | 7 | 16 # 3 | s 51
1|t w2 2ysI 7| 17| 242 | e1| 8 | 360 1| B2 MUFG 7 | 1 35 12| 3 50
12|m ek xR 7 | 17 95 34 | 8 | 358 12| =2 Ed—L 7| 15 46 1| o 47
13| B2 MUFG 7 | 17| 108 | 35| 5 | 324 12|mm =8 MUFG 7| 15 83 1| 3 47
14|=®m vao ~zZ2e7z | 7 |16 | 221 | 70 | 25| 317 14|18 £ MET 7 | 12 36 6 | 4 46
HELELS Z2yvI 7| 17| 242 | 76| 28 | 31.4 14|xm Bxs57 | 1 | 13 39 5 | 2 46

TRYVREE (%) =HBR-1TH x 100 BEER=72vIBA+TOv I BA+Y—THBA
R t R t
B ke rus | & ¢ # S B ke st | & ¢ # S
1 £
1w 2= FOPE 7|17 87 5.12 e 22 WUFG 7 | 1 12 0.71
2 |[RB #=& YT 7 17 76 4.47 2 |BEAX BXRTE RIETZR 7 16 9 0.56
3 |=E 0BO ~ze7z | 1| 16 70 4.38 3|57+ a<ow-|coDSTARS | 7 | 15 8 0.53
4|Fm HxE ITETE 7 | 14 57 4.07 4 ||mE &m Z2YST 7 | 1 9 0.53
5|2F @ ~ze7z | 1| 16 53 3.31 5 |ive 2= WELeh 4R 7| 12 6 0.50
6 |fm Huh Bx4357 | 1 | 13 40 3.08 6 |Am Axs357 | 1 | 13 5 0.38
7 | B Ex+—L 7 | 15 46 3.07 7 |ch#t m37E MR 7| 14 5 0.36
8 | g 5= A 7| 1 51 3.00 8 |k w= YT 7| 1 6 0.35
8 |&m Bx4357 | 1 | 13 39 3.00 8 |ma som xR 7 | 1 6 0.35
8| MTETLEE 7 | 12 36 3.00 8 |z z=H PN 7 | 1 6 0.35
8 |m& @®m ITETE 7 | 10 30 3.00 HEER MET 7| 10 3 0.30
12|#E £ PN 7 | 17 49 2.88 12|maE etk K 7 | 1 5 0.29
13|k BEX A 7 | 16 46 2.88 13|Fm axe MRS 7 | 14 4 0.29
NCEET MUFG 7| 15 43 2.87 14| xm ~ze7Fz | 1| 16 4 0. 25
HEREZS MUFG 7 | 17 45 2.65 14|27 5/ ~zE7Z | 1| 16 4 0. 25
12y bHEYDTEYIRERE (K) =BR-dHBtEy b 1y hHEYDTOVIRERE (X) =BR-HEEY b
H—TJHRX
[ e sz Bl S alelalzl2] |n B s |25 | 2 518 =]2
= g1 5| & 2| A |2 I g1 | & | | & | 2
% % g | &
1|2 roa ITETESE 7 102 1 [ 3] o [185] [1[Es %= e 7 1436 [ 23] 8] 5 [0
2 |&m Bxs57 | 7 | 13| 2| 2| 17| 4 [6a]| |2|pH=E PN 7 | 17| 65 | 30 | 13] 13 [70.0
3 |sag < s Bxs57 | 7 | 1| s | 3 | w0 1 |15a] |3|em o+ Bxs57 | 7 | 14| s3 | 31 | 10] 12 |en0
4 |mm E=mz G sTARs | 7 | 16 | s2 | 6 | 16| 8 |15.4| |4|=m vno ~zZ2e7z | 7 |16 | 127 | 67 | 20 | 31 |642
5 |EE &on ITETEE 7| 14| a4 | 4 | 17| 3 |153] |5l sz ABxs57 | 7 | 14| 62 | 33| 13| 16 |63.7
6|8 BF MUFG 7 |17 sa| 6 | 1a| 5 |153] |6l|mim mmz Ex—L 7 | 15 | s2 |38 | 27| 17 |628
7|nE s ITETE 7 12 a0 | 4| 8| 1 |1aa| 7|z MET 7 | 1236 |16 13| 7 |65
8 |#iE 3= A 7l er | 2 | st | 1 |1a2]| |s|leT xm ~ze7z | 7 | 16 | 120 | 64 | 33 | 32 |62.4
9 |km EE Bxs57 | 7 | 12| 27| o | 5] o [139] |9|mx @r MRS 70| e || 9| 11 622
10|=®| vao ~ze7zx | 7 |6 | | o | 17| 16 |130] |10|mw = YT 7 | 15| 60 | 35 | 15| 19 |61.6
11|44t #3k Bxss57 | 7 || st | 5 | 11| 2 [127] |11]Ee = YT 7 | 17| e2 | 41| 28| 23 |50.8
12|m3 4@ METLEE 7 | 13| ss| 3| 19| 2 |125] [12|rm x4 Ed—L 7 |15 | s | 17| 11| 10 |59.2
12|tp8 Fig ~zE7zx | 7 |16 | 5| 3 | 18| 3 |125] [13|emE iz PN 7 | 17 | 14| a7 | a0 | 27 | 588
14|Fig =% G staRs | 7 | 16 | st | 2 | 19| 2 [123| |14|@mn mmre GoLD STARS | 7 | 16 | 76 | 32 | 25 | 19 |56
15|27 %@ ~Z2E7FZ | 7 |16 | 4| 2 | 19| 3 |122] |i5Em et GoLo sTARS | 7 | 13 | 69 | 27 | 25 | 17 |s7.2
H—ITMER (%) =(H—ERXIT—ZXAX100+E x25— k= x25) +T# H—TLI—TRME (%) =(FY[E] x 100+ [B] x50) ~$T#k

KEAZEDZEFER.

ABFFEABERNL—R—ILIEE

ICRELET.



SISy e SEE

F14E £E6AR NL—HR—IL)—TREBXEBHAS XFEH

HEES 320

BEE 2024/02/24
15 BRRREN

Bt K[ LE

HEY 200 JURY : {REE 20— F—LI tyb [ B | 1 2 3 4 5 | &%
BASREERT 0 10:30 * B M OER wEJIKE 2 2 25 25 50
BTER . 1113 Bl F: REA AETF GOLD STARS/\EF 0 1 7 20 21
HAEM . 0043  HEE: K3H % BLAFR| 00:15  00:25 00:40

Ky i EIIPN-2 Vs GOLD STARSAEF &
1set 2set 3set 4set bset 1set 2set 3set 4set bset

3 4 16 3 23 16 FE FX B OB &=H %A 14 2 1 14 2 1
10) (14 A7 &7 a—F Fi¥ B& (9)
1M1 24 11 1 24 AR 288 & " 068K 3 7 12,3 7 12
0| (4) 10 B = 6 (6)
: - : - : B4 LTk o 1 . : :
ST HE BR P F it g HE e P~ B
RIEE (%) 36.6 82 30 2 Rk 79 16 i 20.3 RIEE (%)
REE (%) 75.0 4 3 0 (RN T7HRYY) 2 0 0 0.0 REE (%)
v FEH(R) 0.50 — 1 — Jowvy — 4 — 2.00 vy FEH(R)
SR (%) 9.4 48 1 2 H—7 28 0 5 0.9 SR (%)
ARIIEE (%) 52.2 — — — H—JLi—J — — 46.7 AR IIEE (%)
F—LTHI b+ 3 — 18 — HFOIR — — 6 F—LTHIE
130 50 4 &5t 107 217 12
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
Hi * Y ® I g B MRy
AR 31234 582 % g REE O (B O IHEZ22 2 2PV oy
ﬁ \\\\\\\\ L—g EF \\\\\\\\ L—g mn qz \\\\\\\\ L—g @ E 3‘—3
3] )
1 C BR &b 2 mm 7.3/0 429 .50 [0 00 = 0 = 9 0 0 2 56 [0 0 0 =
3 INE &L 2 mom 1751 2.4 250 [3 2 0| 6.7 |0 - 8 0 0 3 94 |31 1 500
4 KB WEX 2 m O 6 3|0 500 150 |o 0 0 = 0 = 3.0 2 0 -167 |0 0o o =
6 | L EBE 2 L L 0 0 0 - - 0 0 0 - 0 - 0,00 0 - 9 4|4 667
8 Ni#E BE 0
10 wE ST 1 O 0o o0 - - 0 0 0 - 0 - 1/0 0 0| 00 |0 00 -
11 mEE Bk 2 mm 106 0 600 300 [0 0 o - 105 [8 0/0 3 94 |1 1 0/ 100.0
13 STA B 0
14 HiE = 1 O 0 0 0 - - 0 0 0 = 0 = 5.0 0 3 150 |30 1 167
16 Wi Ex 2 mm 126 1 500 300 [0 /0 0 - 0 - 4.0/ 0 3 188 |0 0 o0 -
20 ANl BR 1O 00 o0 = = 0 0 0 = 0 = 110 0 0| 00 |0 00 =
23 it T2 1 ] 7.2 0 286 200 [0 /0 0 - 0 - 110 0 0| 00 |0 00 -
24 08 53 2 m m 23 50 2.7 250 [1 1 0/ 1000 |0 = 8 1.0 2 188 |71 4 429
VL I NI == 1L 00 o0 - - 0 0 0 - 0 - 0,0/ 0 0 - 0 00 -
F—LA&F 2 8230 2 36.6 15.00 |43 0 750 [1 o050 |48 1 2 16| 9.4 |23 7 10 522
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
GOLD STARSAEF i geox R s v e x 2 |am M N LI
Brri e slREE B L |weE E R g |BRRE 2 BT 2
] 2]
1 ¢ Fig Bx 2 mm 3. 1/0 333 0.50 [0 0 o = 105 [5 0 0 2 100 [0 0 o =
2 KE NE 2 mm 8 10 125 0.50 [0 0 o0 - 10 05 [2 01 1 0.0 |31 1 500
3 #)Il FETHAE 2 mm 9 2 0 222 100 [0 00 = 1 05 [4 02 0 -125 |6 14 500
5 | L Fx gE 1 L 00 0 - - 0 0 0 - 0 - 0,0/ 0 0 - 5.0/ 0 0.0
6 B HE 1 O 0 0 0 - = 0 0 0 = 0 = 110 0 0/ 00 |0 00 =
7 FF7+ awavr |2 . m m 9 10 1.1 0.50 [0 0 o - 1005 [2 0/0 0 00 [0 0 o0 -
9 Nk BTETF 1 O 00 0 - - 0 0 0 - 0 - 2.0 0 0 00 |10 1 500
n| L m% EsT 1L 00 o0 - - 0 0 0 - 0 - 0,0/ 0 0 - 104 3 550
12 A EHE 2 mm 23 54 2.7 250 [0 0 o - 0 - 4.0 2 1 63 |11/ 4 4 545
14 8 2 mm 27 6 3 22.2 300 [2 0/ 0/ 00 |oO - 8.0 0 2 63 |10/4 2 500
F—LA&E 2 79 16 7 20.3 800 [2 0o 0| 00 |4 200 |28 0 5 6 09 |4 14 15 6.7

XtHEEY bY—0 . B=RE—FT 425 AN—

O=%REF L=1~0O

TEYYVREE (%) =FR--FTHx100
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERYE (F) =KRATHBEEY M

TRy IRERE (X) =BR+HBEY b

Y= LI—TRUE (%) = (FRIE] x 100+ [R] x50) +2%

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




TSR

FE14E £E6AH

HAEeES 321

RiER 2024/02/24

NL—R—L ) —THREBLEBBAE X7 =5 : BMERELSE

Bt K[ LE

HEY 200 JURY : {REE 20— F—LI tyb [ B | 1 2 3 4 5 | &%
BASABERE : 11:41 *F F:BHF KF AAKREY ST 0 1 22 22 44
RTHEM: 12:38 B OET: K KX HEAYSI 2 2 25 25 50
HARKM: 0057 HEE: NE BREER S &BERI| 00:27 | 00:27 00:54

™ ~

E:g L — . —_ DA ’,@
g ABAXES ST (S HRER)ST
1set 2set 3set 4set bset 1set 2set 3set 4set bset

25 24 19 25 26 31 A8 B#F B OB BEH 2 2 1.9 2 1 9
9 14 19) &g HH a—F 10) (13)
17 23 14 17 23 27 AR 288 & " 33K 4 11 6|4 11 6
@n (20) 10 B = 9 (3) (8)
N NS i i i BALTY w1 i : :
i HE B EY: iR E & B £ SFf
RIEE (%) 21.7 129 28 4 Rk 128 38 i 29.7 RIEE (%)
REE (%) 16.7 6 1 0 (RN T7HRYY) 7 2 2 28.6 REE (%)
v FEH(R) 0.00 — 0 — Jowvy — 2 — 1.00 vy FEH(R)
SR (%) 1.1 45 2 1 H—7 49 3 4 9.2 SR (%)
R IhEE (%) 57.8 — — — H—JLi—J — — 55.7 AR IIEE (%)
F—LTHI b+ 2 — 14 — HFOIR — — 3 F—LTHIE
174 44 5 &5t 171 50 1
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
BExs 5T t rex 25 lnex % le 5 lnexy B |2EE =
T B2 e slp R R iifgiﬁaigwg
9 e T2 1.0 0 0 0 - - 0 0 0 - 0 = 1.0 0 1 250 [1 /0 1 500
| ¢ 28 B8F 2 ' m 0O 00 0 - - 00 0 - 0 - 6 0 0 1 4.2 00 0 -
17 AE EBF 2 ' m m 265 1 19.2 250 |2 1.0 5.0 |0 = 8 0 0 5| 156 |15 7 4 600
19 JEAt Fisk 2 'm0 286 0 21.4 300 |0 0 0 - 0 - 4.0 11 0.0 [10/7 2| 800
20 Kt BF 1 O 7010 143 100 [0 00 - 0 - 0 0/0 0 - 00 o0 -
23 ME #b50 2 m m 186 1 333 300 |0 0 0 - 0 - 9 . 0/0 2 5.6 00 0 -
24 HE LRE 1 m 7.2 0 286 200 |0 0 0 - 0 - 6 1,0 1/ 28 |2 0 1 250
25 AH fIZE 2 m m 305 1 167 250 |4 0 0 00 |o - 2. 0/0 1| 125 |8 4 1 563
26 o BesE 1 ] 3/0 0 0.0 0.00 |0 0 0 - 0 - 31,0 0/ 33 |0 0 0 -
27 BiE < = 2 0 m 00 0 - - 00 0 - 0 - 5.0 0 1 50 [0/0 0 -
29 | L oH FF 2L L 0 0 0 - - 0 0 0 = 0 = 0 0/ 0 0 = 7. 2 3 500
31 AR FiH 1 n 103 1 300 300 |0 0 0 - 0 - t/o/0/0 00 [2/0 0 0.0
39 MR S 0
83| L wmE Ly 2 L L 00 0 - - 00 o0 - 0 - 0 0/0 0 - 00 0 -
F—L&F 2 129 28 4 21.7 1400 [6 /10| 167 |0 - 452 1 13| 111 |45 20 12 57.8
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
i"‘x IJ T H:l' * p=l 9& 1* ‘S * pi=l 1* 8 ““—j * 8 * "j] ;z)] = % g]l EJZ
e Br2zs e slpRR E P laRa E R b B2 2 &Y 2
] 1 7 R
1 5 £ 2 ' m m 16 6|0 375 300 [0 00 - 1005 (7 0/ 0 3 107 |2 1 1 750
2 ¢l E=E= 2 m m 12,30 250 1.50 [0 0 0 - 0 712 2 143 |26 114 500
3 L Bl = 2 L L 00 0 - - 0 0 0 - 0 = 0 0 0 0 = 303 0/ 100.0
4 EB XB 2 m m 42012/ 6 28.6 6.00 |7 2 2 286 |0 - 71,0 3 250 |11 5|4 636
6 R RRE 2 m m 00 0 - - 0 0 0 - 0 = 6 0 2 0/ -83 |0 0 0 =
8 BR BF 1.0 1.0/ 0 00 000 |0 0 0 - 0 - 0 0/0 0 - 00 0 -
9 kB BE 2 m m 40 14 0 350 700 [0 0 0 - 1005 [8 1,0 1| 156 |1 0 0 0.0
10 hE E 1.0 00 0 - - 00 0 - 0 - 3.0/0 0/ 00 Jo 0 0 -
11 A KTy 2 mm 17 31 176 1.50 [0 oo - 0 - 7.0 0 1 3.6 1.0 0 0.0
12 L BEBF 2 L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 00 0 -
13 %EBE F05 2 00O 0 0 0 - - 0 0 0 - 0 = 4.0/ 0 0/ 00 Jo 0 0 =
14 R RE 0
F—LEE 2 12838 7 29.7 1900 [7 22 286 |2 100 |49/3 4|10 9.2 |44 20 9 557

Xty bv—

W= —TFT T A2\—

O=%REF L=1~0O

TEYYVREE (%) =FR--FTHx100

Y—THRE (%)

=(H—ERT—Rx100+$R x25—%km x25) +4TH

TRYIRERYE (F) =KRATHBEEY M

TRy IRERE (X) =BR+HBEY b

Y= LI—TRUE (%) = (FRIE] x 100+ [R] x50) +2%

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




TSR

HEES

322

RiER 2024/02/24

E14E £E6AF NL—R—IL)—SREBLXEHAS xFER 215 EMEXELE

Bt K[ LE

HEY 350 JURY : {REE 20— F—LI tyb [ B | 1 2 3 4 5 | &%
BASRBERS :  13:00 * ZE: BHE EKX RRET7 RA$HB 0 1 16 6 22
RTERR . 13:39 Bl FE: M ER LB R ERIT 2 2 25 25 50
SHAEERY . 00:39  HFEE: FE EKX SAEERI) 00:20 | 00:16 00:36
SUIR.: S > N E| 4= A
D RREF RPHE Vs \LiBSh S BRT ()]
1set 2set 3set 4set bset 1set 2set 3set 4set bset
6 11 1,11 1 8 A FHE B OB T mE 12 2 5.5 10 11
10) (10) a—F R T an (6)
3 5 8 6 3 5 3fk3EK & " 6i%0RK 4 8 102 12 4
9 B = 12 (6) | (14)
522 | o4 - - - 54 LTS 2710 - - - -
i HE B EY: iR E & B £ SFf
RIEE (%) 22.1 71 17 1 Rk 76 31 3 40.8 RIEE (%)
REE (%) 0.0 2 0 1 (RN T7HRYY) 2 1 0 50.0 REE (%)
v FEH(R) 0.50 — 1 — Jowvy — 3 — 1.50 vy FEH(R)
SR (%) 1.1 23 0 3 H—7 49 5 1 16.3 SR (%)
ARIIEE (%) 53.1 — — — H—JLi—J — — — 67.5 AR IIEE (%)
F—LTHI b+ 1 — 4 — HFOIR — " — 0 F—LTHIE
100 22 10 &8 125 50 4
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
S i - % g - 2 le e u oy B g FE g
3] )
1 B BB 2 m m 5 2 0 400 .00 [0 0 0 = 0 = 2.0 0 0/ 00 1.0 0 0.0
2 L A *Z= 2 L L 00 0 - - 00 0 - 0 0 0/0 0 - 105 1 550
3 miE X 2 mm 10 41 400 200 |0 0 0 = 0 = 5.0 0 1 50 [0/0 0 =
4 %A BEE 0
5 C B FIE 2 m m 00 0 - - 00 0 - 0 - 3.0/ 0 0/ 00 JOo 0 o0 -
6 &F ®@m 2 M m 30 5 3 16.7 250 |0 0 0 - 0 - 3,00 1 8.3 (198 4| 526
8 B VHEO 2 m m 15 32 200 1.50 [2 )01 0.0 1005 |[5 0 3 1 -100 |17 7 4 529
10 EARITN 3 2 00 00 0 - - 00 0 - 0 - 2,.0/0 0/ 00 |o 0 0 -
11 IR $51E 2 m m 173 1 17.6 .50 |0 0 o0 - 0 - 3lofo]1 8.3 11,0 100.0
12 FiE Bz 0
F—L&F 2 771707 221 850 |2 0 1 0.0 1 05 |23 0/3 4 1.1 |48 21 9 531
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
METE Y Ty H s R ‘5' s R B ‘5’ T 8 % o h = % % 3
TR Brri e slREE B L |weE E R g |BRRE 2 BT 2
] 2]
2 NE E= 2 ' m m 177 1 #.2 350 [0 0 0 - 1005 [2 0/ 0 1 125 |4 1 1 315
3 | CcL EE k= 2 L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 6 2 3 583
4 EE o 2 m m 2 1.0 500 050 |0 0 0 = 0 = 6 1,0 1/ 228 |0 0 0 =
5 TH AL 2 M m 1571 46.7 350 |10 0 00 1005 [7 0/0 0/ 00 |O 0 0 -
6 B hDA 2 0 0O 00 o0 = = 00 o0 = 1005 [2 0/0 2 2.0 |3 3 0 100.0
7 A & 0
8 BA Eh 1. 13 41 308 400 |0 0 0 - 0 - 3.0 1 0/ -83 |4 3 0 750
10 A HRLE 2 mm n 3o 273 1.50 [0 0o - 0 - 31/0 1| 4.7 Jo 0 o0 -
11 o 2 0 m 7 4 0 5.1 200 |11 0 1000 |0 - 52 05 217 [3 2 1 833
12 R BFTE 2 m m 11,5 0 455 250 |0 0 0 - 0 - 7.0 0 3 1.7 [0 o0]o0 -
14 NHE OA 1 O 00 0 = = 00 0 = 0 = 4 1,0 0/ 20 |0 0 0 =
15 HE EFxR 0
F—LEE 2 76 31 3 40.8 1550 [2 1/0 500 |3 1.5 |49|/5 1|13 163 |20 11 5 67.5

Xty bv—

W= —TFT T A2\—

O=%KEF L=V

Ao

TEYYVREE (%) =FR--FTHx100

TRYIRERYE (F) =KRATHBEEY M

Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRy IRERE (X) =BR+HBEY b

Y= LI—TRUE (%) = (FRIE] x 100+ [R] x50) +2%

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




TSR

E14E £E6AF NL—R—IL)—SREBLXEHAS xFER 215 EMEXELE

HEES 323

RiER 2024/02/24

Bt K[ LE

HEY 400 JURY : {REE 20— F—LI tyb [ B | 1 2 3 4 5 | &%
BABARSRY . 14:01 £ B/ Ml FiE GOLD STARSAEF 0 1 24 19 43
SRTHEM: 1455 B B/ BF KF EAX—L&EE 2 2 26 25 51
AARHE: 0054 HES: O RE HAFR] 00:30 | 00:21 00:51

o) .

5 GOLD STARS/\EF Vs Er—LEHE o
1set 2set 3set 4set bset 1set 2set 3set 4set bset

14 2 114 2 1 =H #85 B OB 5 IBE 6 7 15 2 6 7
(6) FiF B a—F £a &
3 7 12,3 71 12 Of% 78K & " 1548 2 4 3 4 3 15

(6) 9) 7 B = 6 12)
w5 | waw | - - - 5ALTY 2 | 1ot - -

i HE B EY: iR E & B £ SFf
RIEE (%) 29.3 82 24 10 Rk 89 25 6 28. 1 RIEE (%)
REE (%) 0.0 2 0 0 (RN T7HRYY) 0 0 0 0.0 REE (%)
v FEH(R) 3.50 — 7 — Jowvy — 2 — 1.00 vy FEH(R)
SR (%) 11.9 44 3 6 H—7 50 2 3 10.5 SR (%)
ARIIEE (%) 50.0 — — — H—JLi—J — — — 39.5 AR IIEE (%)
F—LTHI b+ 6 — 9 — HFOIR — 22 — 0 F—LTHIE
126 43 16 &5t 139 51 9
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
H p R 5 : % le v . % oAl AR
GOLD STARS/\EF ;% 1 2 3 4 5 g 1:_:; § '_% ;E g 1:_:; § '_% 1:;; q'; g L% 955 ﬁ :% g Ij] IjJ %
1 C Fig Bx 2 ' m m 2 1 1 500 050 [0 0 0 = 0 = 01 1 4 175 [1/0 0 0.0
2 RE WE 2 m m 5.1 .1 200 050 |0 0 0 - 10 05 |[6 01 2 4.2 00 0 -
3 #l FE;TE 2 ' m m 16 80 500 400 |0 0 0 = 0 = 5 0 1 0 -50 |13 4 3 423
5 L FZ &E 1 L 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 403 0] 7150
6 = HE 2 00 410 2 0.0 000 |0 0 0 - 0 - 4.0/ 0 2 125 |2 1 0 500
7 FF7+ aza%7 |2 m W 7.0 0 00 000 |0 0 0 - 4 20 |4 0 1 2 6.3 00 0 -
9 IME BT 1 O 0 0 0 - - 00 0 - 0 - 10 0 0 00 [0 0 O -
n| L =% 2er 1L 00 0 - - 00 0 - 0 - 0 0/0 0 - 5 2 2 600
12 FE EPE 2 ' m m 30 6 5 200 300 |0 0 0 - 2/ 100 |8 2 0 2 3.3 [12 6 2 583
14 4% £ 2 mm 1881 444 400 |2 0 0 00 |o - 6 0 2 3 42 |10]2 4| 400
F—L&F 2 8224 10 29.3 1200 [2 oo 0.0 7 350 |[44/3 |6 /|15 11.9 |47 18 11 50.0
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
) i - * 5 - O P - B e X R g
] 1 7 R
2 EE BT 2 m m 1.0 0 00 000 [0 0 0 - 0 - 16 1 2 5 109 [0 0 0 -
3 K 55H 2 mm 2042 2.0 200 |0 0 0 - 1005 |4 0/0 2| 125 |10 2 2 300
4 hiE FEF 2 ' m m 216 1 286 300 |0 0 0 = 105 [11 1,0 4 182 |4 0 2 250
6 C R =z 2 m m 28 13 2 | 46.4 650 |0 0 0 - 0 - 5 000 2/ 100 |3 1 0 333
7 AE =k 2 ' m m 19 21 105 100 [o oo = 0 = 7.0 1.0 -36 |6 21 4.7
9 L Ral OE 1L 00 0 - - 00 0 - 0 - 0 0/0 0 - 1.0 0 0.0
12 AR B 1 O 00 0 - - 00 0 - 0 - 0 00 0 - 201 0| 500
13 iE £% 0
15 B REZX 2 M m 00 0 - - 00 0 - 0 - 7.0 0 3 107 |12 4|5 542
18 T ER 0
F—LEE 2 89 25 6 28.1 12250 [0 0o - 2| 100 |50 2 3 16 10.5 [38/10 10 39.5

XtHEEY bY—0 . B=RE—FT 425 AN—

O=%KEF L=1~0O

TEYYVREE (%) =FR--FTHx100
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERYE (F) =KRATHBEEY M

TRy IRERE (X) =BR+HBEY b

Y= LI—TRUE (%) = (FRIE] x 100+ [R] x50) +2%

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




SISy e SEE

#HaEsS 324

RiER 2024/02/24

E14E £E6AF NL—R—IL)—SREBLXEHAS xFER 215 EMEXELE

Bt K[ LE

HEY 200 JURY : {REE 20— F—LI tyb [ B | 1 2 3 4 5 | &%
BAtARERD :  15:24 £ F|: #HiK &K HRRAYDT 2 2 23 25 25 73
WTERD:  16:43 Bl T REA AETF =%UFJsRTT 1 1 25 19 20 64
HErmR 01:19 HIEE : ML ImZE S E&HEFRE| 00:24 | 00:22 | 00:27 01:13

4 N\

[ - — /= )

BERA)T VS =ZUFJER1T

5 MUFG
1set 2set 3set 4set bset 1set 2set 3set 4set bset
4 14 1.2 1 92 1 9 BE R B X BiE %= 127 8 /2 12 72 12 7
6) 10 (10) a—F BEX B (15)
1M 13 9 4 11 6 4 11 6 AR%3RX & " 25538 2 5 9 5 9 8|5 8
2 8) (13 11 B = 1 (15) (15)
s e e : : SALTI b e et et : :
i HE B LY iR E & B £ SFf
RIEE (%) 34.3 143 49 10 Rk 137 38 12 27.7 RIEE (%)
REE (%) 0.0 2 0 1 (RN T7HRYY) 7 3 0 42.9 REE (%)
v FEH(R) 1.00 — 3 — Jowvy — 0 — 0.00 vy FEH(R)
SR (%) 5.5 73 2 1 H—7 64 3 6 5.1 SR (%)
ARIIEE (%) 72.4 — — — H—JLi—J — — — 66. 2 AR IIEE (%)
F—LTHI b+ 6 — 19 — HFOIR — 23 — 1 F—LTHIE
216 73 17 &5t 201 64 18
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
s Hy - * 5 - % e v e alwm B e TR g
FRAD I grocoesBEE 5 L (REE R L ORERR 3 RN 2
3] )
1 BiE £ 3 m Em 114 0 364 .33 [0 0 0 = 0 = 1mo 13 4.5 11,0 100.0
2 C 4t E= 30O m m 1430 21.4 100 [o 0o - 0 - 8 0 0 2 6.3 |10 4 3 550
3 L Bl = 3L L L 00 o0 = = 00 o0 = 0 = 0 0 0 0 = 20 12 5 72.5
4 BB %1 3 m mEm 45 15 6 33.3 500 |2 0 1 00 |o - 8 0 2 1 =31 |16 11 3 781
6 R RRE 3 0 m m 1.0 0 00 000 |0 0 0 - 103 [12. 0 1 2 2.1 00 o0 -
8 BR BF 1 O 1.0/ 0 00 000 |0 0 0 - 0 - 0 0/0 0 - 00 0 -
9 B BE 3 m Em 42 18 0 42.9 6.00 |0 0 0 - 103 (10 1/ 1 4 1725 |2 1 1 750
10 hE EE 2. 0 O 00 0 - - 00 0 - 0 - 3.0/0 0/ 00 Jo 0 0 -
11 "R £ 3 mEm 186 2 333 200 |0 0 0 - 103 |11 0/ 1 0 -23 |1 1 0 100.0
12| L BRBF 3L L L 00 0 - - 00 0 - 0 - 0 0/0 0 - 00 0 -
13 %% F05 2 | m O 11,0 1000 050 |0 0 0 = 0 = 8 1,0 3| 219 |1 1 0 100.0
14 wA KE 1 . 10022 200 200 |0 0 0 - 0 - 2,01 0| 125 |7 5 0 7.4
F—L&F 3 1434910 34.3 16.33 [ 201 00 |[3| 100 |73 2 7 15 55 |58(36 12| 72.4
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
ZUFJERTT i 2 & R ‘E’ 78 & R . ‘5’ e ok o - % % o
= Brri e slREE B L |weE E R g |BRRE 2 BT 2
] 2]
2 C R ®7 3/m mm 317 0 226 233 |3 1 0 33 [o - 6 0 1 0 -42 |11 6 1 591
4 ME 2 0
5 aH 3/m mm 141 3 7.1 0.33 |0 0 0 = 0 = 7.0 1 0 36 |1 1/0 1000
6 BE BT 0
7 L BE 3 mEm 26 8 2 308 267 |0 0 0 = 0 = 1210 1 104 [1 0 0 0.0
8 "R R 3 m mEm 89 2 237 300 |3 2 0 667 [0 - 001 11 100 |14 7 2 571
9 WE HAE 3 m Em 412 0| 500 067 |0 0 0 - 0 - 1B1 12 9.6 00 0 -
10 | L &% &5 3L L L 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 12,10 1 8715
11 LA 0
12 @ 3 mEn 24 11 5 458 367 |10 0 00 |o - 7.0 2 0 -1.1 |26 138 654
15 B & 3 0o 0 0 0 0 = = 00 0 = 0 = 9 0 0 3 8.3 00 0 =
F—LEE 3 137/38 12 27.7 1267 |7 /30| 429 |o - 64 3 6 7T 51 |65(37 12| 66.2
XtHHEtEy bv—0 0 B=RE—T 4 5A0nN— O=XAKEF L=UADO

TEYVREER (%) =BRIT

# x 100

Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERYE (F) =KRATHBEEY M

TRy IRERE (X) =BR+HBEY b
Y= LI—TRUE (%) = (FRIE] x 100+ [R] x50) +2%

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




TSR

HEES 325

RiER 2024/02/25

E14E £E6AF NL—R—IL)—SREBLXEHAS xFER 215 EMEXELE

Bt K[ LE

HEY 300 JURY : {REE 20— F—LI tyb [ B | 1 2 3 4 5 | &%
BASABERS : 10:00 E FE: Ml FiE ILFL R ERT 2 2 25 25 50
BTEM:  10:39 B #': BE EKX EAX—L&EE 0 1 16 10 26
HARRT . 0039 HEE: HO RE A FRI| 00:17 | 00:19 00:36
©) PR Vs EA—LEBE @
1set 2set 3set 4set bset 1set 2set 3set 4set bset
12 2 5 5 10 11 it mE B OB FE IRE 2 6 7 6 7 15
(6) m B2 T a—F £a &
4 8 10 2 12 4 TH50BK & " 10558 4 3 15/2 4 3
an (8) (6) 14 B = 1 (18)
: - : - : B4 LTk b . : .
i HE Be EY: iR E & B £ SFf
RIEE (%) 47.9 " 34 2 Rk n 15 9 21.1 RIEE (%)
REE (%) 0.0 0 0 0 (RN T7HRYY) 0 0 0 0.0 REE (%)
v FEH(R) 1.00 — 2 — Jowvy — 0 — 0.00 vy FEH(R)
SR (%) 10. 2 49 4 6 H—7 27 0 0 1.4 SR (%)
ARIIEE (%) 55.6 — — — H—JLi—J — — — 46. 4 AR IIEE (%)
F—LTHI b+ 3 — 10 — HFEDIR — " — 1 F—LTHIE
120 50 8 &8 98 26 9
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
7 H R 5 : % le v . % oAl AR
2 NE Ex 2 m m 117 0 636 350 [0 0 0 = 1005 [5 1 1 0 150 |9 4 4 667
3 |cL % k= 2 L L 00 0 - - 00 0 - 0 0 0/0 0 - 7.4 1 643
4 EE o 2 mm 11,0 1000 050 |0 0 0 = 0 = 6 0 0 2 8.3 00 0 =
5 TH Ak 2 M m 1570 467 350 |0 0 0 - 1005 [4 02 1| -63 |3 1 1 500
6 BE hDA 2 00 10 40 400 200 |0 0 0 - 0 - 10 0/ 0 00 [2 0 1 250
7 a2 1 O 0o o0 - - 0o o0 - 0 - 5.0 0 1 50 [0/0 0 -
8 BA EP 2 m O 401 1] 2.0 050 |0 0 0 - 0 - 0 0/ 0 0 - 11,0 1000
10 A RLE 2 m m 10 40 400 200 |0 0 0 - 0 - 01, 0/2 150 [0/ 0 0 -
11 = 2 0 m 146 1 429 300 |0 0 0 - 0 - 152 14 183 [4 1 0 2.0
12 I BFTE 2 mm 6 4 0 667 200 |0 0 0 - 0 - 3.0/2 0/ -167 |1 0 1 500
14 N#H OA 0
15 FE EX 0
F—L&F 2 7134 2 419 17.00 [0 0|0 - 2| 1.00 |49 4 6 10 102 |[27/11 8| 556
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
: t . ® 5 o Tl PR . 9 g X% om
] 1 7 R
1 [EE HiE 0
2 EE BT 2 mm 2 1.0 500 050 |0 0 0 - 0 - 5.0 0 1 50 [0/0 0 -
3 R 55H 2 m m 2.3 2 250 1.50 |0 0 0 = 0 = 4 0 0 3 188 |12 2 4 333
4 hit FEF 2 M m 1342 308 200 |0 0 0 - 0 - 4.0 0 1 6.3 9 2 2 333
6 C M =z 2 m m 277 3 259 350 |0 0 0 = 0 = 5 0 0 1 50 |81 6| 500
7 A8 =a 2 m m 1702 0.0 000 |0 0 0 - 0 - 4.0/0 0/ 00 1.0 1 500
9 1Y 0
12 AR ¥ 0
13| L &5 £z 0
15 B REZX 2 m m 00 0 - - 00 0 - 0 - 4.0 0 1 6.3 |11 5 6 727
18 hi BER 1 O 00 0 = = 00 0 = 0 = 10 0 1 250 [1 0 0 0.0
F—LEE 2 711509 | 211 750 |0 0 0 - 0 - 27,0 0 8 7.4 |42 10 19 46.4

XtHEEY bY—0 . B=RE—FT 425 AN—

O=%KEF L=1~0O

TEYYVREE (%) =FR--FTHx100
Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERYE (F) =KRATHBEEY M

TRy IRERE (X) =BR+HBEY b

Y= LI—TRUE (%) = (FRIE] x 100+ [R] x50) +2%

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




TSR

AEE

5 326

FfEE

2024/02/25

Bt K[ LE

F14E 2E6AH NL—R—LU—FREBLXEBAS XFEH =5 BEMERELHE
HEY 300 JURY : {REE 20— F—LI tyb [ B | 1 2 3 4 5 | &%
BASRBERS 0 11:08 £ #E®: RA AEF ME)KZE 2 2 25 23 27 75
BTHEM: 12222 B B BE KE =%UFJsRTT 1 1 21 25 25 IA
HErmR 01:19 HES : IS FRk S &HFR| 00:21 | 00:24 | 00:28 01:13
Ky CEIIPN Vs =BUFJIRTT ©
MUFG
1set 2set 3set 4set bset 1set 2set 3set 4set bset
4 16 24 3 4 16 4 16 FE FX B OB B *= 2 7 8 6 2 7|6 2 71
FE#% %07t a—F X B
311 1 11 2411 1 24 528K & " 2854 6 5 9 5 9 8|5 9 8
12 B = 8 (15) (15) (15)
A - 5ALTY B | 20 | w0 | - -
B FIE Ba E= BT R TH& /e EX= ST
RIEE (%) 32.0 150 48 9 Rk 141 44 10 31.2 RIEE (%)
REE (%) 0.0 6 0 1 (RN T7HRYY) 1 0 4 0.0 REE (%)
v FEH(R) 2.33 — 7 — Jowvy — 4 — 1.33 vy FEH(R)
SR (%) 7.0 75 2 6 H—7 n 3 5 6.7 SR (%)
ARIIEE (%) 59.2 — — — H—JLi—J — — — 51.4 AR IIEE (%)
F—LTHI b+ 5 — 18 — HFOIR — 20 — 3 F—LTHIE
225 75 15 &5t 212 71 15
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
. t . t N B Rk X
wEIA B, 5 4 slursx B Yluex 2|8 Y luexwn B |lzmm I
7 ¥ RR & F BAK E |m o3 BRRR 3 B g
3] )
1 C BR &b 3 m mm 6 1,1 167 0.33 |0 0 0 = 2] 067 |8 0 1 1 00 |0 0 O =
3 ME AL 3 mmm 29 51 17.2 .67 [2]/0/0| 00 |oO Mo o0/ 2 45 [29/7 15 500
4 KB #EX 3 M mm 3 142 40.0 467 |1 0 0 00 |1 03 |11 0 4 0 -91 [0 00 =
6 | L HHE 3L L L 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 1513 1 90.0
8 Ni#E BE 0
9 =E B 0
10 W 7Y 0
1 mEE Bk 3 m mm 2109 1 429 300 |0 0 0 - 0 - 5/0 05 83 [3 0 2 333
% | L HE =S 0
16 wmiE Ex 3 m mm 229 1 40.9 300 |10 0 00 |2 o067 [16/2 1 9 20 [2 1]/0 500
18 EER BR 0
20 w)Il B 0
23 it TE 0
24 g = 3 m mEm 37,10 3| 27.0 333 |2 0 1 00 |[2| o067 |14 0 0 2 36 [16/5 7| 531
F—LA&F 3 150 48| 9 32.0 16.00 [ 6 01 00 |[7] 233 |75 2 6 19 7.0 |65/2 25 59.2
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
o e rex 2 5 |aex 2 |la 5 lnexy 2 |eZ%
SRR Brri e slREE B L |weE E R g |BRRE 2 BT 2
] 2]
2 | ¢ 8 ®BF 3 m mm 27 10/ 1 37.0 33 1.0 0 00 [o - 1312 3 96 [12/6 5 708
4 ME 2 0
5 aH 3 m mm 2.3 1 250 .00 |0 0 0 = 0 = 7.0 0 0 00 [0 00 =
6 B BT 3 mmm 36 113 306 367 |5 0 1 00 |[1] 03 |10 0 1 1 00 |[12/4 6| 583
7 L BE 3 m mm 20 4 0 200 1.33 [o 0o = 2| 067 |15 0 0 3 50 [9 4 4 667
8 RS 3 m mEm 4113 5 31.7 43 [5 03| 00 |1 033 |8 1 2 2 125 |19/ 3 4 263
9 WE BTE 3 m Em 5 3 0 600 100 [0 00 - 0 - 51,02 100 [0 0 0 -
10 | L &% &5 3L L L 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 176 6 529
11 PAITE3 0
15 B %= 3 00 0O 0 0 0 - - 00 0 - 0 - 3.0 0 1 83 |0/ 0 0 -
F—LA&E 3 141 4410 31.2 1467 (1104 00 |4 1.3 (713|512 67 |69 23 25 5.4

Xty bv—

W= —TFT T A2\—

O=%REF L=1~0O

TEYYVREE (%) =FR--FTHx100

Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRYIRERYE (F) =KRATHBEEY M

TRy IRERE (X) =BR+HBEY b

Y= LI—TRUE (%) = (FRIE] x 100+ [R] x50) +2%

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,




S IEERERIR s#ess 327  ®ER 2024/02/25 mww SH1E

E14E £E6AF NL—R—IL)—SREBLXEHAS xFER 215 EMEXELE

HEY 300 JURY : {REE 20— F—LI tyb [ B | 1 2 3 4 5 | &%
BASRBERS :  12:43 X ZE: BHE EKX AAKREY ST 2 2 25 25 50
JTEM: 13017 B '/ Ml T8 EAX—L&EE 0 1 9 11 20
AARHE: 0034 HES: O RE HAFR| 00:14 | 00:17 00:31

£23 \ ‘

R BAXEY S D VS EA—LE&HE (&
1set 2set 3set 4set bset 1set 2set 3set 4set bset

25 24 1920 33 19 A8 B#F B OB FE IRE 2 6 7 6 7 15
@1 IRE At J—F k18 ® (12)
17 23 27 31 23 27 528K & " 10568 4 3 15/2 4 3
@1 (13) 12 B = 8
Z Z Z Z N B4 LTk o o Z Z I
i HE Be EY: iR E & B £ SFf
RIEE (%) 41.5 65 27 2 Rk 74 15 i 20.3 RIEE (%)
REE (%) 0.0 3 0 1 (RN T7HRYY) 4 1 1 25.0 REE (%)
v FEH(R) 3.00 — 6 — Jowvy — 0 — 0.00 vy FEH(R)
SR (%) 15.3 49 5 2 H—7 21 0 3 1.2 SR (%)
ARIIEE (%) 61.1 — — — H—JLi—J — — — 54.4 AR IIEE (%)
F—LTHI b+ 1 — 12 — HFOIR — 5 — 2 F—LTHIE
114 50 4 &5t 95 20 10
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
w5 i - # Y - 2 |la 5 ey B |23 @
13 Em &5 1 O 0/0 0 = = 0/0 0 = 0 = 3.0 1 0 -83 |o 0 o0 =
| ¢ 28 B8F 0
17 AE EBF 1 . 5 4 0 8.0 400 |0 0 0 = 0 = 0 0 0 0 = 1.0 0 00
19 JbAt ik 2 M m 9 11 11 050 |2 0 1 00 |0 - 154 02 30 [5 5 0 1000
20 Kt BF 1 [] 9 1.1 11 100 [0 00 - 0 - 7.0 0 2 7.1 1.0 0 00
21 g S 2 00O 8 3 0 315 1.50 [0 0o - 0 - 3.0/0 2 167 |7 1 4 429
23 HE #bH 2 m m 12,10/ 0 833 500 |0 0 0 - 1005 [1 00 0/ 00 |0 0 o0 -
24 HE LWRE 1 3.0 0 00 0.00 |0 0 0 - 0 - 4.0 0 1 6.3 11,0 1000
25 AE fIz= 1 . 8 4 0 500 400 |1 0 0 00 |4 40 |3 0 1 2 83 1.0 1 500
27 g <= 2 mm 220 100.0 .00 |0 0 0 - 0 - 3.0 00 1 83 |[0]0 0 -
29 | L R FF 2 L L 00 o0 = = 00 o0 = 0 = 0 0/ 0 0 = 00 0 =
31 #R F 1 n 71,0 143 100 [o 0o - 10100 [6 1,0 2| 2.0 |1 0 1 500
33 il FF 1 ] 2 1.0 500 100 [o oo = 0 = 4. 0/ 0 0/ 00 Jo 0 o0 =
8| L wm 2% 2 L L 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 11,0 1000
F—L&F 2 65 27 2 4.5 13.50 [ 301 00 |[6/| 300 |49 5 2 12 153 [18/8 |6 | 611
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
+ . t B Rk
EA—LEEE B 123 4sgas 2 P lnex 2 |8 Y |luexn 2 |zmm F
] 1 7 R
1 [EE HiE 0
2 EE BT 2 mm 00 0 - - 00 0 - 0 - 3.0/1 0/ -83 |o 0 0 -
3 R 55H 2 m m 15 2 3 13.3 .00 |0 0 0 = 0 = 4.0 0 1 6.3 1.0 500
4 hiE LT 2 M m 24 4 2 16.7 200 |0 0 0 - 0 - 3.0 0 1 8.3 [17/5 7| 500
6 | C k3 =% 2 m m 214 2 19.0 200 |4 1 1 250 |o = 3.0 0 0/ 00 |11 7 1 682
7 A8 =a 2 m m 1450 357 250 |0 0 0 - 0 - 4.0/0 0/ 00 |6 5 0 8.3
9 1Y 0
12 AR ¥ 1O 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 2000/ 00
13| L &5 £z 0
15 B REZX 2 m m 00 0 - - 00 0 - 0 - 402 2 00 |7 1 3 357
18 ti ER 0
F—LEE 2 7415 7 20.3 750 |4 1 1 250 |0 - 21000 3 4 1.2 |45 19 11 54.4
XtHHEtEy bv—0 0 B=RE—T 4 5A0nN— O=XAKEF L=UADO
TR U UREE (%) =BA-ITEx100 TEVIRERE () —BmIEBEY MK TRVIREAR (X) —BR-EBEy N
H—THMBE (%) = (H—ERT—Z x100+HE x 25—k H x25) +HTH Y—TLU—THBE (%) = (HHE] x100+HHN[ER] x50) +B%

KAEDEEEE. ABUFEABRNL—R—LBRITRELES,



TSR

HEES 328

RiER 2024/02/25

Bt K[ LE

F14mE £E6AH NL—R—L) —TREBLRBHEAS XFERY K5 BHNEHKELE
HEY 300 JURY : {REE 20— F—LI tyb [ B | 1 2 3 4 5 | &%
BASRBERE : 13139 X E‘: B kF RZRET7RAEHE 2 2 25 25 50
BTHERM . 14:27 B B M ER =%UFJsRTT 0 1 21 15 36
HABM . 0048  HEE M BE BERH| 00:24 | 00:21 00-45
s RRET R s =SUF U O
1set 2set 3set 4set bset 1set 2set 3set 4set bset
6 11 1 11 1 8 A FHE OB BiE ¥= 6 2 7.2 1 8
(10) (10) a—F BEX B an (15)
3 5 8 6 3 5 AR%3RX & " 255588 5 9 8 6 5 9
(12 () 11 B = 9 (15)
A= i I I
i HE Be EY: iR E & B £ SFf
RIEE (%) 31.5 89 28 1 Rk 81 18 9 22.2 RIEE (%)
REE (%) 0.0 0 0 0 (RN T7HRYY) 7 0 0 0.0 REE (%)
v FEH(R) 3.50 — 7 — Jowvy — 0 — 0.00 vy FEH(R)
SR (%) 10.7 49 3 5 H—7 37 2 0 10. 1 SR (%)
ARIIEE (%) 63.5 — — — H—JLi—J — — — 51.1 AR IIEE (%)
F—LTHI b+ 4 — 12 — HFOIR — 16 — 3 F—LTHIE
138 50 12 &8 118 36 9
Histy b PV RNV ITEYY) Jovyy H—7 H$—JLI—7J
S i - % g - 2 le e u oy B g FE g
3] )
1 BA Bk 2 mm 410 0| 00 0.00 [0 0 © = 1005 [3 0/ 0 0/ 00 |0 0 o0 =
2 | L Em@ k= 2 L L 00 0 - - 00 0 - 0 0 0/0 0 - 9 3 2 444
3 miE X 2 mm 14 5|1 357 250 |0 0 0 = 105 [6 0 0 0 00 11,0 100.0
4 HE BT 1 O 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 00 0 -
5 | ¢ & 2 m m 2 2 0 1000 100 [0 00 - 105 (11 0/ 0 6/ 136 |0 0 0 -
6 &F ®@m 2 M m 26 8 3 308 400 |0 0 0 - 20 100 |4 0 1 1 0.0 (117 3| 77.3
8 B VHEO 2 m m 24 8 2 333 400 |0 0 0 - 1005 [8 2 2 1 219 |14 7 4 643
10 FRITIY 53 2 0 O 00 0 - - 00 0 - 0 - 6 0 1 1 0.0 11,0 1000
11 IR $51E 2 m m 16 4 0 250 200 |0 0 0 - 105 |11 11 5 182 |1 0 0 00
12 FiF Mz 1 O 3.1 .1 333 .00 |0 0 0 - 0 - 0 0/0 0 - 00 0 -
F—L&F 2 89 28 7 31.5 14.00 [0 00 - 7 35 |49/3 5|14 107 |37 19 9  63.5
Histy k &PV RNV ITEYY) Javy H—J H$—JLi—J
o e rex 2 5 |aex 2 |la 5 lnexy 2 |eZ%
SR Brri e slREE B L |weE E R g |BRRE 2 BT 2
] 2]
2 | ¢ 8 ®BF 2 mm 7.6 1 353 300 |10 0 00 [o - 4 0 0 0 00 |20 9 2 500
4 ME 2 0
5 aH 2 m m 6 1 0 16.7 050 |0 0 0 = 0 = 2.0 0 0/ 00 |Oo 0 0 =
6 B BT 2 mom 2113 4.8 050 |2 0 0 00 |o - 5 00 0/ 00 |9 3 1 389
7 L BE 2 m m 16 7|1 438 350 |0 0 0 = 0 = 7 1.0 0 143 [0 o]0 =
8 RS 2 m m 1833 16.7 1.50 [4]/0/0| 00 |o - 8 1,0 3| 219 |5 2 2 600
9 WE HAE 2 m m 3.0 1 0.0 000 |0 0 0 - 0 - 5.0 0 1 50 [0/0 0 -
10 | L &% &5 2 L L 00 o0 - - 00 o0 - 0 - 0 0/0 0 - 10 4 4 600
11 LA 1O 00 0 - - 00 0 - 0 - 10 0 1 250 [0 0 0 -
15 B %= 2 00 0 0 0 - - 00 0 - 0 - 5 0/0 2/ 100 |0 0 0 -
F—LEE 2 8118 9 | 22.2 9.00 |7 0 0 00 |o - 37,2 0 7 101 |44]18/ 9| 511

Xty bv—

W= —TFT T A2\—

O=%REF L=1~0O

TEYYVREE (%) =FR--FTHx100

TRYIRERYE (F) =KRATHBEEY M

Y—THRE (%) =(H—EXT—Xx100+3F x 26— %A x25) +iTH

TRy IRERE (X) =BR+HBEY b
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